GS/1G/100

APPSC GROUP-I Services (No0.28/2022) Preliminary Exam
General Studies Question Paper, Key

Part A
History and Culture
During the Indus Valley Civilization, the
beads manufacturing industry was located at

Chanhudaro

Select the correct statements about religious
beliefs of the Rig Vedic Period :

I. Dyus was a celestial God of the Rig
Vedic Aryans similar to Jupiter of the

Greeks.

II. Prithvi was considered as the mother of
all Gods.

III. Agni was  worshipped as  the

intermediary of taking the offerings to
the deities.

IV. Cow sacrifice was also the part of

worship.

I, IIT and IV only

Match the following schools of philosophies
with their theories :

a. Sankhya I. Predetermined fate
theory

World was formed by the
blending of nature
Considered Atom as
basis of the world
Advocated materialistic

ideology

b. Vaisheshika II.
c. Lokayata  IIL

d. Ajivika Iv.

Choose the correct answer using the codes

given below :
a b c d
II 1III v

(1)
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Hathigumpha inscription of Kharavela gave
the details of irrigation facilities provided in

the Kalinga Region by

Mahapadmananda

Select the correct statements regarding the
inscriptions of Ashoka :
I. They are in Brahmi, Kharosthi, Greek
and Aramaic scripts.
II. The Monarch’s name was mentioned as
Ashoka only in Maski and Gurjara
inscriptions.

III. The XIII Rock
names of the five Greek Rulers as his

edict mentioned the

contemporaries.

IV. The IV and V edicts mentioned the war
of succession with his brothers.

I, II and III only

Match the following books with their authors :

a. Prajnaparamita I. Acharya Kundakunda

b. Samayasara II. Sarvavarma

c. Lilavati III.Acharya Nagarjuna
Parinayam

d. Katantra IV.Kuthuhala
Vyakaranam

Choose the correct answer using the codes
given below :

a b c d
IIT I v II

(2)
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10.

Which of the following was not the feature of
the Guilds during the Gupta Period ?

Non-Autonomous Bodies

The account of Greek (Yavana) invasion
during the reign of Pushyamitra Sunga is
available in :

I. Gargi — Samhita

II. Patanjali — Mahabhashya

ITI. Kalidasa — Malavikagnimitra
IV. Visakhadatta — Mudrarakshasa

Choose the correct answer using the codes

given below :

I, IT and III
Choose the correct statement regarding
Nalanda University at the time of
Harshavardana :
Silabhadra was the Chancellor of the
university.
Match the following taxes :
Name Tax
a. Navidadere I. Tax on Marriage
b. Melivamsam II. Tax on Barbers
c¢. Manevana III. Tax on Ploughs
d. Tudimeya IV. Tax on Houses

Choose the correct answer using the codes
given below :

a b c d
II III v

(3)
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11. Arrange the following temples of Ellora in

chronological order according to their time of
construction :

I. Ravan ki Khai
II. Kailasanatha
III. Dashavatara
IV. Dumar Lena

Choose the correct answer using the codes

given below :

II1, 1, IV, 11

12. Match the with their

meaning related to village administration of
the Cholas :

a. Variyam

b. Kudumba

following terms

L
IT.
III.

Ward
Lottery system

c¢. Kudavolai Member of the village

assembly

d. Perumakkal IV. Committee system

Choose the correct answer using the codes

given below :
a b
VI

d
11

C

II

13.  Which
during the rule of Kakatiyas ?

L

of the following highways existed

Orugallu — Tripuranthakam — Nellore
II. Dwarasamudra — Ballari — Orugallu
III. Motupalli — Tripuranthakam — Ballari

IV. Palnadu — Nalgonda — Nekarikallu —
Orugallu

Choose the correct answer using the codes

given below :

IIT and IV only

(4)
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14. Which of the principles are common for Bhakti

and Sufi movement ?
I. Monotheism
II. Asceticism
ITI. Religious tolerance
IV. Accepted the idol worship to some extent

Choose the correct answer using the codes
given below :

I, IT and IIT only

15. Choose the

foreign chronicles of the Vijayanagara Period :

Nikitin -

incorrect pair regarding the

Visited during the
reign of Achyuta

Devaraya

16. The Vijayanagra ruler who permitted Jesuits
to build churches at Nellore and Chandragiri

was

Venkatapati Raya II

(5)
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17. Which of the following incidents took place
during the reign of Jahangir ?
I. The fifth Sikh Guru, Arjan Dev was
sentenced to death

II. Victroy over Rajputs of Mewar
III. Annexation of Kabul and Kandahar

IV. Arrival of English East India Company
to India

Choose the correct answer using the codes

given below :

I, IT and IV only

18. Match the following revenue officials during
the reign of Akbar with their duties :

Kept records of the
revenue payable by the
villages

Revenue Collector
in-charge of a District
¢. Qanungo III. Accountant

d. Bitikchi Iv.

a. Amalguzar L

b. Karkuns II.

Prepared the seasonal
crop statistics

Choose the correct answer using the codes
given below :

a b c d
II IV I II1

19. The longest Trunk Road constructed by
Shershah which still exists is

Indus to Sonargaon

(6)
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20. Match the following books with their
authors :
a. India at the Death 1. Irfan Habib
of Akbar
b. The Agrarian II. Frangois Bernier
System of Mughal

21.

22.

India, 1556 — 1707
c. Travels in the
Mogul Empire :
AD 1656 — 1668
d. Early Travels in
India, 1583 — 1619

ITI. William Foster

IV. Moreland

Choose the correct answer using the codes
given below :

a b c d
IV1I II 111

The that

Taj Mahal is a combination of European and

following historian contended

Asiatic genius :

V.A. Smith

Match the following with the year they

were formulated :

a. Famine Code I 1881

b. Vernacular Press Act II. 1878

¢. Charles Wood’s Despatch on III. 1883
Education

d. 18t Factory Act IV. 1854

Choose the correct answer using the codes

given below :
a b c d
IIT 11 v I

(7)
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23.

24.

Arrange the following incidents of Rebellion
against East India Company in the State of
Hyderabad in chronological order :
I. Attack of Turrebaz Khan on British
Residence in Hyderabad

II. Imprisonment of Mubariz-ud-Daula in
Golkonda Fort

III. In Aurangabad, Ist Contingent Cavalry

was suspected, disarmed and arrested

The
Nayaka of Shorapur

IV. rebellion of Raja Venkatappa

Choose the correct answer using the codes

given below :

IT, 111, I, IV

Match the following Presidents of Indian
National Congress with their meetings :
a. Dadabhai Naoroji I. Madras— 1887

b. Badruddin Tyabji II. Bombay — 1889

c. George Yule III. Allahabad — 1888

d. William Wedderburn IV. Calcutta — 1886

Choose the correct answer using the codes

given below :
a b c d
VI III II

(8)
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25.

26.

217.

The following book was translated by Gandhiji
with the title Sarvodaya :

John Ruskin —
Last

Unto This

Match the following newspapers with the
persons associated with them :

Virendra
Chattopadhyay

Shyamji Krishna
Varma

a. Indian Sociologist 1.

b. Islamic Fraternity II.

c. The Talwar III. Muhammad

Barkatullah

d. Swadesh Sevak IV. G.D. Kumar

Choose the correct answer using the codes
given below :
a b ¢ d
II III I v

The idea of Indian Constituent Assembly was

put forward for the first time by
M.N. Roy

(9)
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. &
28. Match the following authors with their 28. fob (ogrod &¢ SSowsos ad
) DB :
works :
9,
a. Al-Biruni I. Tarigh-i-Firoz Shahi a. ©S-BH I =0p-2-90%
S,
b. Minhaj-us-Siraj II. Tahqiq-i-Hind aTor
= (V4 9,
c. Ziauddin Barani III. The Rihla b. DFeS-sef -0 1L 378832708
d. Ibn Battuta IV. Tabagat-i-Nasiri c. RBATEOS 20 IL & Bsrer
Choose the correct answer using the codes d. RS DEVL IV. $erid-3-
S
given below : MO
a b c d A BRI DR FEOX GHTAOD)
a b c d
I 1v I 11T
29. Which of the following institutions were not 29.  QV°AH Q(T’ééeﬁség;ﬁa DS5HAO’ Bo&
established during the Non-Cooperation 0P A F1OLDLBD
Movement ? L D06 BTBrFVES 58,
I. Besant Theosophical College, XAIHEO)
Madanapalle
o . . I 23 QAS OO QAT &
II. Jamia Millia Islamia, Delhi 5
&
T1I. Kashi Vidyapith, Benaras I 53 Dors OB, BT
IV. Aligarh Muslim University, Aligarh V. edd NWATe oﬁm‘bé@géﬁ,
Choose the correct answer using the codes %3@83)5
given below A BN LIRS FEDOX GHTTAOD
I and IV only DB DTG, DOTHTOER :
I SDBA TV S5 ehadd
30. The Indian Independence Bill was introduced |80. 2373¢d Jr550(hs DLV DS HF &963

in the House of Commons by the British Prime
Minister Attlee on

4th July, 1947

T @d THSS & god 8BS
SIS

4 27, 1947
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Part B

Constitution, Polity, Social Justice and
International Relations

31. Which of the following statements is correct

with  respect to the State Finance
Commission ?
I. It is required to appoint a State Finance
Commission once in five years.

II. It recommends the determination of
taxes, duties, tolls and fees assigned to

the Panchayats and Municipalities.

ITI. Article 243 deals with constitution of
finance commission to review financial
position of Panchayats.

Choose the correct answer using the codes

given below :

ITand II

Which of the
provide(s) for
admissions ?

32. following ~Amendment(s)

reservation in jobs and

QUESTION DELETED

33. Consider the following Assertion (A) and

Reason (R) and choose the correct code :
Assertion (A) :

The President is the executive power of the

Union.
Reason (R) :

The executive power of the Union shall be
vested in the President and shall be
exercised by him either directly or

through officers subordinate to him in

accordance with the Constitution.

(11)
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Code : g&ex :

Both (A) and (R) are true and (R) is the (A), (R) BO® Q230 (R) @938 (AL
correct explanation of (A). p Yo INTANYelS
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34. Which of the following statements related to|34. OIS @9&@&)[?}?@‘35 1322059550
the Central Administrative Tribunal are 50200800 8§08 e3¢5 HBIR D ?
2 v -
correct : L 2O SYDAS HO.
I. Itis a statutory body. 3y y ?,
I A DO DOIOT° JIPS0
II. Its members are drawn from =, @v
administrative background only. Sslele) ‘;ﬁjb@é 0TS
III. It is not bound by the procedure N, 28 IS ([T F&ES SrDoDS
prescribed in the Code of Civil N8 P2 SO .
Procedure.
V. e curisdict 0 bers o V. &Y @O8 I8 @De> 2rde
. Its jurisdiction covers the members o = =
All-India services as well as Central RIS @"(‘lia gOLCﬁ DIV, _SSOLCS
v V.
services and Central Government posts. L@aﬁ)és PO O 856
; BDNOA
V. It was set up in 1985. - :
Choose the correct answer using the codes V. & 19855° QO”’QGAD BONVDR0E.

given below :

I III, IV and V

35. Which of the following statements is not one of
the powers of the Speaker of the Legislative

Assembly ?
He has no veto except in case of a tie
&

The Speaker will preside when a resolution
for his removal from office is under
consideration of the Assembly.

AMS ARLAAS FEOD &HTIAOD
DB ST, DOTNEOR :

I, ITT, TV S8 V

35, 808 B3SO |1HELS TSI DHEE

0BT 2,83 ¢ 2
B OBCHOS' 85 @BJ8 HES' By
&

DDEB DB 0B S35 SoRod
BT750 08 HBYO IS’
€500 )88 9958 ¢ ST ED.
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36. The powers of the Election Commission

include which of the following ?
I. The takes
decisions on every aspect of conduct and
of the

announcement the

Election Commission

from
to

elections
of
declaration of results.

control

elections

II. During the election period, the Election
Commission can order the Government

to dismiss some government officials.

III. When on election duty, Government
officers work under the control of the

Election Commission.

Choose the correct answer using the codes

given below :

I and III only

37. What is/are the provision(s) to safeguard the

autonomy of the Supreme Court of India ?

I. While appointing the Supreme Court
Judges, the President of India has to
consult the Chief Justice of India.

The Supreme Court Judges can be
removed by the Chief Justice of India
only.

IT.

III. The salaries of the Judges are charged
on the Consolidated Fund of India on
which the legislature does not have to

vote.

Which of the statements given above is/are
correct ?

I and III only

(14)
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38.  Which of the following are not included in the|38. 808 &¢3¢5° & MDOFY eden O
original jurisdiction of the Supreme Court ? JOES BB Y22 ?
I. A dispute between two or more States. I Bod O 906550 o)&ﬂ)zféﬁ
II. A dispute regarding elections to either UOLOA&P@ 308 § 50,
House of the Parliament or that of
Legislature of a State. IL. i)"éi‘no&n S @LQ CRNNINIARNY
III. A dispute between the Government of 280 QQQé@é\) AeAleTATeIALY
India and a Union Territory. DrA0.
IV. A dispute between the Government of 1. 2>¢eh ch)a,‘i)é O, ﬁo@iré’)é
India and one or more States. [PO0 K55 D0,
Choose the correct answer using the codes
given below : IV. 228 (DaDedso, 28 Sor
I and TII @OBZ0T) DFS T XD NS
D°C0.
AMNS AJLIAS FEOX &ITTROD
DB X)), DOTNEOR :
39. The National Commission for Scheduled 1T 0008w 111

Castes, while investigating any matter or
inquiring into any complaint, has the powers
on the following matters :

I. It can receive evidences on affidavits.

II. It can requisition any public record from

any court or office.

IIT. It can 1ssue summons for the
examination of witnesses and
documents.

Choose the correct answer using the codes
given below :

All of the above

39. AGEFID Hero 2BAH  AS, AT
DAATAY  ATERDINIED B> ABD°
DTN DTS BRI DI®, & 18od

0TS AT O GoENod
L @GN ST N FPON)).

I B & S 5075000 0SB
AT DD 85205 925580950,

IIL rdoen, JEe 830 §do
D0 2328 TR,

AN BILIRS FEOX &ITTROD
DB DT, DOTNEOR :

DIV,
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40. Consider the following Assertion (A) and
Reason (R) and choose the correct code :

Assertion (A) :

The Parliament of India consists of the
President and two Houses.

Reason (R) :
The President is a part of the legislature
even though he does not sit in

Parliament except for the purpose of
delivering his opening address.

Code :
Both (A) and (R) are true and (R) is the

correct explanation of (A).

41. Which

Fundamental Duties of citizens laid down in

of the following are among the

the Indian Constitution ?

I. To protect the weaker sections from

social injustice.

II. To develop scientific temper and spirit of
inquiry.
I11.

To preserve the rich heritage of our

composite culture.

IV. To safeguard public property and adjure
violence.

Which of the statements given above are

correct ?

IT, IIT and IV

(16)

40.

41.

808 N8B (A), 5EL0 (R) HNOABS0D),
DB FE QotHFoB

B9NEBe (A) :

2SS FE0ENS” TURDS, Bock HIen
CsOLPON.

5200 (R):

T ANS $S B0 1HDD0K0 FHo $D)
FEDoENS”  ERSINDIE T89S
e>fo.

gGew :

(A), (R) BOCE® Q230 (R) &I (AFL OB
D€,

28¢5 T°2350H50S" ABDFODS PSS (RS
DS 8oB ¢3S’ DD &) oM ?
L e ersaNO OB DTS
ST S8 0¢%o0.
L 30D B9850, Derded )8
ROTFOOOE0.
ITL. o0 (FeD 0y 9ed Fd)
PO Q). SPCHE0.
IV. (D23 @3 $8.0¢5¢50, a0
CERB0.
28 ADIS VOO0’ I OB ?
I1, TIT OOASY IV
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42.

43.

44.

Which of the following entries of the Indian
Constitution deals with the institutions for
scientific or technical education financed by
the Government of India, wholly or in part,
and declared by Parliament, by law to be

institutions of national importance ?

Entry 64

Who said

traditional western sense but a comprehensive

“India 1s not a nation in the

culture of continental scope compounded of a
very large number of linguistic and religious
entities, highly complex and often strongly

antagonistic local cultures” ?

Carl Friedrich

The which of the
following Articles that denies the rights to

aliens (Foreign Citizens) ?
I.  Articles 29 and 30
IT. Article 19
ITI. Articles 23 and 24
IV. Article 16

Constitution confers

Choose the correct answer using the codes

given below :

I, IT and IV only

(17)

42.

43.

44.

2SS TSR 808 ¢3S 1S B
P0BBE DS FH0 278 (Deeh 0 O
S Lo A HNEFBNOA.
2PBOD S0 EOAS HORVEN™ HEO
& $0° PO D0LNTI (8305308 ?

D03 (SRe) 64

"orBHTI0 ORI rF)ehs S0 a8
TH0 50, O wrer DY SowseS eyar,
DBDERS e e, 50 HoSA,
SEDT  DOVS ADIS Y
DODYHOS B POTTOHE HOE H|(
Q0D e Q) DK T ) ?

50 UGS
DT FHOZ sTE O o80T 8o &
OB T23S0K0 (DTTP0 TIOE ?
L @85S 29 HBAW 30
II. es88S 19
1. 883 23 HBaA%w 24

Iv. 8% 16

AMNY ARSI FEOD &IHTIAOD
DB X)), DOTNEOR :

L, II S0803W IV S5(ebadd
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45. Consider the following statements :

I. The Preamble was enacted before the
enactment of the entire Constitution.

II. The of the
Constitution but has no legal effect

Preamble 1s a part

independently of other parts.
I11.
IV.

It is enforceble through Courts of Law.

The Objectives Resolution by Jawaharlal
Nehru finally became the foundation for
the Preamble.

Which of the statements given above are

incorrect ?

I and IIT only

46. Which of the following statement(s) is/are

correct ?

I. The PM CARES for Children Scheme
was launched by the Prime Minister of
India on 29t May, 2021 for the children.

II. It aims to support children who have
lost both the parents or legal guardians
or adoptive parents or surviving parent

to Covid-19 pandemic.

Choose the correct answer using the codes
given below :

Both I and I

47. With child labour being made illegal and right
to education becoming a fundamental right for
children, this right against exploitation has
become more meaningful.

Which of the following pairs of Articles provide
for right to education and prohibition of child
labour respectively ?

Articles 21A and 24

(18)

45.

46.

47.

808 (DZEIIDON HONEZ0S0G :
I 8% J0B0 T°ers0N0 9sHeneS'8
0783008 BrFoOODNDR0A.

II. 8% orarsoriosS 2.8 2rfo 0
QBE FTPOS HOD0G0 SROT®
SODETS (DO SO,

I YO JEONYTD  T°LT° e
BOHCAROE.

IV. B330erS JTT® O 07850
DSEE VOB H AT Sr80&.
28 BDIS (HELSOS DO 3 ?

INVISIOWWITTINVE I

808 (DELIOS” DB/ HVIE ?

L 2roo £330 D.00. 5 )& 29 3,
202165 27865 (DG (B0 0T.

I $&-19 NONVITS 530
SO S0(oen S EDERS
HoBEH e B 3B SNES)

S$OSoen B BDoD &S

S$OBoHODN  FSHoWS  DOOZK
8 9N B0 A @ 0.

BN ¥ RD FEOR &HTrROD ST
DT DOTHEOR :
I B Il BOcd»

r© 5028 530D HLIHP0  TAHBO,
NS Y DDOF  [PAE TR
SPSEB0S, SDHE  IsBBIoT & TR
30806 85050 STrB0H.

808 & Bed EATEN ST D3y I°E0Y,
PO RO DNFR) OO ?
8%S 21A O 24
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48. Consider the following statements regarding
GST :

I. GST will bring more transparency to
direct tax laws.

II. GST was the 1227 Constitutional
Amendment Bill introduced in the
Parliament.

ITI. GST is a destination-based tax.

Which of the statements given above is/are
correct ?

IT and IIT only

49. Which of the bodies recommends the
distribution of the net proceeds of taxes to be
shared between the Centre and the States,
and allocation between the States, the
respective shares of such proceeds ?

Finance Commission of India
50. Which of the following is mot the function

of the National Commission for Scheduled
Castes ?
To submit the report to the Prime

Minister related to the protection of
Scheduled Castes.

(19)

2.I0.63.8 000D (808  1DELIOR
DOH3050&% :

L 28.R.65 10558 D) HErOy
08065 BB 85D BNOA.

Il 28.90.65. PT0E S DT DES
12285 T2 5005 DedBea .
B3, 0I& 1050 e5Oeh
D).

08 ADIIDEELSOS” B
DBIQ/IBED ?
[INVSIOVWITTINVE SN

48.

49. 30(&0, T aF® 0B HDONETO S D) ©

QES eSrasTrd) Do BAre, o°lare
AS  Beronoew,  etndoEd  orad
QOVOHH  TEFOD & D0Q  JIR)
B0 ?

28 ed @308 S0sD0

2808 T3S IO NEFID Hoere 2308
EAN D 3¢ ?
SO RN
H0V0HODS BNTALINY
GP000(e38 D8 )odcso.

50.

Joere
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51. Which of the following is not a function of the |51. 80& ¢35 OrACHNS DD HEFD EMAS
Union Public Service Commission (UPSC) ? (O30.2.000.2.) A 520 IO ?
Manner of reservation 823 B DS HAS
52. Which of the following subjects are listed in|go 808 35 113 :()AC@JOS@QSB e
th 9 .
I. Women and Child Development
o LR ¥ @D
II. Public Distribution System
V. VA 9, VA4
I1L. Libraries I (853 HOES 555
IV. Slum Improvement and Upgradation . o asren
V. Markets and Fairs IV. 08870 @9DNYE O D
Choose the correct answer using the codes Lﬁa?;ﬁﬁ
given below :
V. 5°8L, 23eebden
LILIIIandV ” y
BMS ARLAAS FEOD &IHTIAOD
DB X)), DOTNEOR :
53. Which of the following statements is/are 1,11, 11BN V
correct about the National Green Tribunal ?
I. It was set up under the National Green
Tribunal Act, 2010, 53. RASS (AS  1BesSS  H80DS  80d
II. NGT is bound by the procedure laid L&)é(ﬁ)é@ef DA JBIE ?
(ilg\(z)v; under the Code of Civil Procedure, L 28 SHhSS Lﬁ S [_G’S&)Jg $S S G’&DO,
2010 (DSPB0 T®)EN DADDROE.

ITII. NGT has six places of sitting throughout

the country.

Choose the correct answer using the codes
given below :

I only

Il DS.2.63. DAS |rdzd §&, 1908
180 ABR0DS ITardE 5B
GONO&.

I d9.28.¢3. 8  Téosoorr
DBFS’ GoeNod.

AN BILIRS FEOX &ITTROD
DB DT, DOTNEOR :

IRV

s
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54. With reference to the Protection of Human
Rights (Amendment) Act, 2019, consider the
following statements about National Human
Rights Commission (NHRC) :

I. Judge of the Supreme Court can now be

appointed as Chairperson of the

Commission.

II. Term of the Chairperson and members
shall be three years.

III. Chairperson and members shall be

eligible for re-appointment.

Which of the above statements is/are correct
()

I, IT and III

55. With reference to the National Commission for

Minorities, consider the following statements :

I. It was set up under the National

Commission for Minorities Act, 1992.

II. Ministry of Welfare has notified five
religious communities under “Minority”
status, to date.

III. It can make recommendations for the
effective implementation of safeguards
for the protection of minorities by
Central or State Governments.

Which of the above statements are correct ?

I and III only

(21)

54.

55.

030°ed 5BV DBBE . (D3G£9) 50, 20198
HDOOAOD, 20N SFSS TEL EMAS
(DR.3R.e30.2.) HO0NS 808 (DELIND
DOH3050&% :

L ODOFD  TsaHar8 @)

AN TONE Y™
QA OTIITDY.

I BODEYQ INVelowW! AV
DANT0 03¢ DO YTreN.

I, OIS BAD  dgen 8-
QAT eopen.

D (DELIOS DA DB ?
1, 11 0833 il

2P0 B EWASH  Ho0HOD,

808 (DEEIOD D80S0 :

L 20 Db BaDH  EMAS
S0, 1992 (DSB0  QTIEN
DODDR0H.

Il Q03 HOEeh S T ¥DIES SBEL
0 O TOAS O
0l e 8o S
B[R0,

. 2 300 B o (1HHE s
oot 8o 88§50
Q0PS0B0™  @den TOHEIE
DI IEN TODHEDE.

2 (DEOIOS B DBIE ?
INVSIOWITTIN G N
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56.

57.

58.

59.

60.

Recently, the term ‘Chicago Convention’ is
frequently seen in the news. Which of the
following sector is it associated with ?

Civil Aviation

With  reference to the  Competition
Commission of India, consider the following
statements :

I. It is a statutory body established under
Competition Act, 2002 as amended by
the (Amendment) Act,
2007.

Competition

II. It consists of a chairperson and five

members appointed by the Central

Government.
Which of the above statements is/are correct

?

I only

National Bank for Agriculture and Rural
Development (NABARD) was established on
the recommendation of which of the following
Committee ?

Sivaraman Committee

‘World Competitiveness Index’ is released by
which of the following organizations ?

Institute for Management Development

Kautilya categorizes the Governments and
Heads of Departments into 18 tirthas.
Amongst these “Dandapala” is the

Officer of the Army Department

(22)

56.

57.

58.

59.

60.

28350, 'V ETIS @O DB0 SSH™
FES EDN0E. 808 ¢3S 1S O SO
D00 &GO& ?

O RANVNIOWWNTS

oA EWVAS ¢ R0AATH
N020H0W, 808 10EEINOND HOXZ0H0Eb :

L 20 S0dEAS B0, 2002 &
DSBODS  50E3AS  (De38¢€a)
DO, 2007 O F0ODD
HEVEIS DO,

Il [0S’ 30(&S 1923065 $0
QOPDONS  TOIEIN, &
INSFAVI(SVEvTolNilo

0 OGS’ DA OB ?
INEN

808 ¢3° & Ee3 DIFBY FASS 2508
DO A%D)D @0& SO TIODDOE
(3°23°0) T DODDR0A ?

BIT°DS E0¢d

19050 Fed3Ses s SrDE D 80H T3S D
DOP Ve TR0 ?
QAN LE HB TS 0E
NS WY

T3NS (DENT® LD, VTP QDB
18 ST $O8B0Trw. DeE3S® “dotsre”
DA ?

Q8 et O3S
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61.

62.

Part C

Indian and Andhra Pradesh Economy and

Planning

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) :

in the
composition of National Income in India.

Reason (R) :
The

There 1s a structural change

process of economic growth was

initiated in India.
Codes :
Both (A) and (R) are true and (R) is the

correct explanation for (A).

The economist who said that the “Net Social
Product and the Social Income are one and the
same thing” is

J.R. Hicks

(23)

61.

62.

a5 C

Q0809HS o0& 0| (NT¥ 5 o

J*doh

180eS BO (DFEISEN B 5C50 28BN0E. 2,8¢3
B9NEEe (AT, HBEES 528890 (R San®
BADVAOE. BES B DAS FES OB o
DT, DOTHEOR.

B9N8BeD (A):

PESTFOS 2P STON0  ETrE)S
QT°ea°¢528 D) G0A.

580 (R):
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63. Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) ©

Per Capita Income decreases in a developing
country even though National Income

increases.
Reason (R) :

The rate of growth of population is higher
than the rate of growth of National

Income.
Codes :
Both (A) and (R) are true and (R) is the

correct explanation for (A).

64. During which Five Year Plan was the rate
of growth of Gross Domestic Product the
highest ?

11*" Five Year Plan

65. Which of the following is not a feature of
MGNREGS ?

I. Guaranteed minimum wage
employment
II. Rights-based employment scheme

III. Generation of wage employment in rural

areas

IV. Provision of nutritious food

QUESTION DELETED

(24)

63.

64.

65.

180CS BOC® (DFEISEN ¥ 5C50 28BN0L. 2,8¢3
BoNEGe (A5,  HBES  s¥wo R
SO TOHVA0R. AN BSDES &
0B N DT VOTHEOA.
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PBOH  STFONO  DOAINNZE  0DIYA
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580 (R):
2P0 STAH SHQ Bew o YT
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66.

67.

68.

What is the age-group of higher proportion of
working population required for Demographic
Dividend ?

15 — 64 years

Which of the following are the objectives of
Beti Bachao, Beti Padhao ?

I. To provide legal assistance to girls

II. To reduce decline in Child Sex Ratio

ITI. To encourage women empowerment

IV. To remove gender inequality
Choose the correct answer using the codes
given below :

II, IIT and IV

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) -

National Income growth fluctuates with
fluctuations in Agriculture growth in
India.

Reason (R) :

Weather conditions, especially rains, are

uncertain in India.
Codes :

Both (A) and (R) are true and (R) is the
correct explanation for (A).

(25)

66.

67.

68.

BIUTDE BABOE §HO @IIES (B0
o> @08 DAY SOHN)-TEr0
00eb ?

15 - 64 Q0S5 )TN

BeS s, 2563 Do’ ©F semen (8oBFIS
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VDRI (oW
QIFANENSOE0TNE

I eroe  Oof NS §
SHoTH

. oD PQTOHD |8 Y0t

IV. ©0f @087 SOAOTHE
AMND IR FEOX &ITTROD
DB X)), DOTNEOR :
I1, TIT s0805 IV

180 BO (DFEISEN QD 5¢80 2380, 2,5¢3
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2 SSTIOS S5O 590
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69. Match the following :
List1
a. Trade 1.

List IT

Primary Sector

b. Water Supply II. Service Sector

III. Central Statistical

Organisation

c. Fisheries

d. GDP IV. Industrial Sector

Choose the correct answer using the codes

given below :
a b ¢ d
I v I 111

70. Which of the following is not included in the
National Income ?

Tax Revenue

Interest Receipts from Public Debt

71. Match the following :

List I List IT
a. Iron and Steel I.  Perambur
Industry
b. Jute Industry II.  Jamshedpur
c. Oil Refinery III. Kolkata
d. Integral Coach IV. Barauni

Factory

Choose the correct answer using the codes

given below :
a b c d
II III v

(26)

69.

70.

71.

&3 1808 AR 2365 AWM

e 1 e 11
a. 5O I rPANE 060
b, dE3HoEB  II. D SorSn

)5 DODE I BoIES HeT0s DO
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e
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72.

73.

74.

When the Central Bank increases the Cash

Reserve Ratio, it leads to
I. Fall in money circulation.
II. Low demand for goods and services.
III. Rise in purchasing power of the people.
IV. Rise in bank’s lending capacity.

Choose the correct answer using the codes

given below :

I and I only

Statutory Liquidity Ratio is to be maintained
by banks in the form of

I. Cash.
II. Gold.

ITI. Unencumbered investments in specified

instruments.
IV. Priority sector loans.

Choose the correct answer using the codes
given below :

I, IT and III

Gilt edged market comprises

Treasury Bills and Government Bond
Market.

(27)

72. 30O 2rod KD doge DAL
0DIN B 26T

L (85058 T9eeed e5hedod.
I S5 RdOZ ATE SHHSI0E.

L (D23 TN P50
2REH0A.
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&N 0A.
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75.

76.

77.

Non-Performing Asset as per the current

banking norms is

A loan whose instalment of principal
and interest amount has remained
overdue for a period of 90 days.

Name of the committee on Indian banking and
financial sector reforms constituted by the

Government of India in 1991 is

Committee on Financial System

Para Banking Services include the following :
I.  Credit card business
II. Insurance business
III. Credit to para military personnel
IV. Factoring services

Choose the correct answer using the codes

given below :

I, IT and IV

(28)

75.

76.

77.

WS 257080 A2D0PIO (DB ABEE
e ST
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78.

79.

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) ©

Goods and Services Tax (GST) introduced in
2017 is non-inflationary.

Reason (R) :
GST system avoids tax-on-tax.
Codes :

Both (A) and (R) are true and (R) is the
correct explanation for (A).

Match the following :

List 1 List IT

a. 10™ Finance I C. Rangarajan
Commission
b. 11" Finance II. K.C.Pant
Commission
c. 12" Finance III. Vijay L. Kelkar
Commission
d. 13" Finance IV. A.M. Khusro
Commission

Choose the correct answer using the codes
given below :

a b c d
I I1v I II1

(29)

78.

79.

180CS BOC® (DFEIEN Qe 5CH0 28BN, 2,8¢3
BoN8Ge (A) s, ¥ 5800 R
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80.

81.

82.

83.

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) ©

Budget Deficit financed by printing currency
will lead to price rise.

Reason (R) :
More goods will be produced in the economy.
Codes :

(A) is true, but (R) is not the correct
explanation of (A).

Part V of the Andhra Pradesh Reorganisation
Act deals with

Authorisation of Expenditure and

Distribution of Revenues.

Polavaram Project is a

National Project.

How many Schedules are there in the Andhra

Pradesh Reorganisation Act ?

13 Schedules

(30)

80.

81.

82.

83.

180eS BOC® (DFEISEN Qe 5CH0 28BN, 2,8¢3
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SO TOHVA0R. AN BIDES TE®

0B N DT VOTHEOA.

BoNEBe (A):

2BENSEND  EBA HIB0D eI
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84.

85.

Apex Council of Godavari and Krishna river

water resources and their management

consists of

Minister of Water resources,
Government of India as chairperson and
Chief Ministers of Andhra Pradesh and

Telangana as members.

Andhra
implementing YSR Rythu

Pradesh s
Bharosa — PM
Kisan Scheme for the benefit of farmers of
Andhra Pradesh.

Which of the following statements are correct

Government  of

about the above scheme ?

< 13,500 is given to a farmer’s family in

three instalments every year.

(31)

84.

85.

338, Sk & e 53BN, a37¢3 DB §57°¢9
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86.

87.

88.

89.

90.

One of the following welfare programmes

implemented by Government of Andhra

Pradesh is not part of Navaratnalu.

Vahana Mitra

The following App developed by Government
of Andhra Pradesh is an SOS service for
women in distress or danger.

Disha

The CCRC introduced by Government of
Andhra Pradesh stands for

Crop Cultivator Rights Card for providing
assistance to lease-holders.

Areawise, which of the following districts of
Andhra Pradesh is the smallest ?

Parvathipuram Manyam

Who among the following is a heavyweight
weightlifting champion who hails from Andhra
Pradesh ?

Dandamudi Rajagopal Rao

(32)
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Part D
Geography
91. Consider the following statement and answer

92.

93.

the question.

Statement -

It took more than a million years for the world
human population to attain the one billion
mark. But it took only 12 years for it to rise
from 5 billion to 6 billion.

Which of the following time period can be

represented from the statement ?

1987 — 1999

According to the Scheduled Castes
Scheduled Tribes Orders (Amendment) Act,
1976, how many Scheduled Tribes are notified
in the State of Andhra Pradesh ?

33

and

As per Census of India 2011, which of the
of States

Territories does mnot have Scheduled Caste

following group and Union

Population ?
QUESTION DELETED

(33)

91.

92.

93.
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94.

95.

96.

(34)
Match the following (Sex Ratio) : 94.
List1 List IT
a. Puducherry I. 993
b. Tamil Nadu II. 1037
c. Lakshadweep III. 996
d. Andhra Pradesh 1IV. 946

Choose the correct answer using the codes

given below :
a b c d
IT III v

What percentage of rail routes were electrified
in India by March 2019 ?

5091%

Match the following Coal-based Thermal
Power Stations and their States :

List T List IT
(Thermal Power (State)
Station)

a. Kudgi I.  Chhattisgarh
b. Kahalgaon II. Karnataka

c. Sipat III. U.P.

d. Dadri IV. Bihar

Choose the correct answer using the codes

given below :
a b c d
I 1Iv I 111

95.

96.
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97. Match the following : 97.
Me t{z ods of Agricultural
Agricultural Geographer
Regionalisation
a. Crop I.  Weaver, Doi
combination
b. Crop II. Bhatia, Jasbir Singh
diversification
c¢. Crop III. Chisholm, Bhatia
concentration
d. Agricultural IV. Kendall, Majid
productivity Husain, Jasbir

98.

99.

Singh
Choose the correct answer using the codes
given below :
a b c d
I 1II 111 v

Which of the following type of grassland
separates Cold Asia from Dry Asia ?

Steppe

According to the Indian Forest Act, 1927,
which of the following is the most appropriate
sequence which shows the degree of protection
between different forest types ?

Reserved Forest > Protected Forest >

Village Forest

98.

99.
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100. Which of the following indicator species are
not found in Srivenkateshwara National Park
of Andhra Pradesh ?

Wood stork

101. Which of the following is the first pipeline
constructed in India for the transportation of
crude oil ?

Naharkatia — Nunmati — Barauni

102. Andhra Pradesh is the sole producer of

QUESTION DELETED

103. Which of the following factors are responsible
for the

tropical regions as compared to sub-tropical

higher Sugarcane production in
regions of India ?
I. Cool nights with clear skies
II. Latitudinal position
III. Long hours of sunshine
IV. High temperature disparity

Choose the correct answer using the codes

given below :

I, IT and III only

(36)
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104. Who among the following made the first
attempt to demarcate Indian Agriculture into
4 macro regions ?

Sengupta and Sdasyuk

105. Which among the following statements are

true about Indian Steel Industry ?
I. India is the second largest producer of

steel in the word.

II. Indian steel industry produced
51 -89 Million Tonnes crude steel with
5-1% share in the total world
production.
III. The production of steel in the year 2020
is more than the previous year.
IV. India is ranked first in the production of
crude steel.
Choose the correct answer using the codes

given below :

QUESTION DELETED

106. Match the following Geographical Heritage
Sites with the States (location) :

Geographical
Heritage Sites States
Lonar Lake I Odisha

b. Siwalik Fossil Park II. Rajasthan

c. Akal Wood Fossil III. Maharashtra
Park

d. Pillow Lava at IV. Himachal
Nomira Pradesh

Choose the correct answer using the codes

given below :
a b c d
III IV II

(37)
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107.

108.

109.

110.

Which of the following geographical series is
notrelated to Vindhyan system ?

Khondalite Series

Which of the following are a result of

depositional activity of the Himalayan rivers ?
I. River Terraces
II. Braided Channels
II1. Alluvial Fans
IV. National Levees

Choose the correct answer using the codes
given below :

QUESTION DELETED

Which of the following Southern States shares
boundaries with maximum number of Indian
States ?

Karnataka

There is a Place-A with longitude 060° West.

There is another Place-B with longitude
090° East.

If the local time at Place-A is 10 AM, what
would be the local time at Place-B ?

8 PM

(38)
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111. Consider the following statements regarding
India :
I. India has an area of 328 million sq km,
and accounts for about 2 4 percent of the
total geographical area of the world.

II. The mainland of India extends between

latitudes 8°4' N and 37°6’ N and

longitude 68°7' E and 97°25' E.

III. Presently India has 28 States and
8 Union Territories.

Which of the statements given above is/are
correct ?

I, IT and III

112. Match the following Irrigation Projects and
their States (location) :

Irrigation Projects States
a. Parwan Multipurpose I. Madhya
Project Pradesh and
Uttar Pradesh

b. Renukaji Dam Project II. Uttarakhand

c. Lakhwar
Multipurpose Project

d. Ken-Betwa Link
Project

III. Himachal
Pradesh

IV. Rajasthan

Choose the correct answer using the codes
given below :

a b c d
IV III II

(39)
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113. Match the following Tiger Reserves with their

114.

115.

States (location) :

Tiger Reserves States
a. Periyar I.  Chhattisgarh
b. Sariska II. Rajasthan
c. Buxa III. West Bengal
d. Indravati IV. Kerala

Choose the correct answer using the codes
given below :
a b c d
IV 1I 111

Phlogopite and Pegmatite minerals are related
to
Mica

Which of the following is currently the biggest
Thermal Power Plant (with an installed
capacity of 4,760 MW) in India ?

The Vindyachal Thermal Power Station,

Madhya Pradesh

(40)
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116.

117.

118.

119.

120.

The greatest variety (diversity) of animal and

plant species can be found in

Tropical Moist Forests

Seasonal differences are maximum in

Mid Latitudes

What is the proper river order from North to
South ?

Jhelum, Chenab, Ravi, Beas, Sutlej

Naupada Coastal and Marine Biodiversity
Area (ICMBA) is located in the district of

Srikakulam

of the

atmosphere in descending order (in terms of

Arrange the following constituents

their quantity) :
Nitrogen, Oxygen, Argon, CO,

(41)
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